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mSv/y per

Ba/g ka/g (mSv/y) (mSv/y) mSv/y
Cs-134 330 50% 0.05 1,000 0.00825 0.01172
Cs-137 330 50% 0.021] 1,000 0.003465 '
Cs-134 330 50% 0.00002] 1,000 0.0000033
Cs-137 330 50% 0.000016[ 1,000 0.00000264 0.00001 001177
Cs-134 330 50% 0.00016/ 1,000 0.0000264 0.00005
Cs-137 330 50% 0.00013] 1,000] 0.00002145 '
Cs-134 330 50% 0.037] 1,000 0.006105
Cs-137 330 50% 0.016] 1,000 0.00264 000875 000875
Cs-134 330 50% 0.13| 1,000 0.02145 0.03020
Cs-137 330 50% 0.053] 1,000 0.008745 '
Cs-134 330 50% 0.000035] 1,000[ 0.000005775
Cs-137 330 50% 0.000029| 1,000[ 0.000004785 0.00001 003029
Cs-134 330 50% 0.00029] 1,000] 0.00004785 0.00009
Cs-137 330 50% 0.00023] 1,000] 0.00003795 '
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